Worksheet 10

Which of the following is a factor of

x> +3x-107?

A (x+2)
B (x+5)
C. (x—S)
D (x-10)

Which of the following is a factor of

x> —169°?

A. (x+169)
B. (x )

C. (x )
D. (x—169)

Which of the following is a factor of
6x” +17x+12?
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Which of the following is a factor of

x* —14x-32?
A. (x+2)
B. (x+4)
C. (x—S)
D.  (6x+2)
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Which of the following is a factor of
12x* —x—-20?

A. (3x+4)
B. (4x—3)
C. (4x+5)
D. (3x-10)

Which of the following is a factor of
15x% +4xy —4y> ?

A. (5x+2y)
B. (3x+2y)
C. (5x—4y)
D. (3x—y)

Which of the following is a factor of
16—x*=2xy—y* ?

A. (4+x y)
B. (4 x+y)
C. (4+x+y)
D. (x )

Which of the following is a factor of
—x*+9?

A. (x+9)
B. (x )
. (x-9)
D (

x+3)
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9.
9x? —9x —54?
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10.  Which of the following is a factor of

6y —2xy+3x—x" ?

A. (x+3)
B. (Zy—x)
C. (3—x)
D. (x—2y)

11.  Which of the following is a factor of

36x—x° 2
A. X
B. (9—x)
C. (4—x)
D. (12+x)

12.  Square: (3a — 4b)

9a* +12ab + 8b*
9a* +16b>
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Which of the following is a factor of

94> +24ab +16b*
9a*> —24ab +16b*
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